


In & schonl, half of students phay
bedminton, onefourth (14™) play
volleyball, ooneeighth (1™ play
tennis, one-sixteenth (1/16™) play chess
and remaining go for swimming. If the
number of stodents paving volleyball
s 160, how many students play chess 7

(1) 20

|
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5. Digits 2, 3, 4, 6. 7. 8 are arranged In
the following blanks :

e

-

. ——— o —

The larpest possible number after
addition is

() 1308

F

Letter Weighing b

(i) 20gor
() Per r@dﬁnﬂnl 20g
3 righing : qrie 1 W :

, R or less - T5.00
(i) For every additional 50 g - T3.00

% fere

Deepa wants to send two parcels
weighing 250 g and 300 g respectively
and two letters each to 20 gand 35 g

respectively. How much postal charge T ¥ e o
does she have to pay ?

(1) T49
(2) <41
(3) T 48




A whole number Is added to 50 and
the same number Is subtracted from

hﬂl- The sum of the resulting numbers

(h
(2)
(3)
(4)

Read the following Raflway timings of
New Delbl - Chennal Rajdhani
express and answer the question :

Station

Vijaywada
Chennal

Which of
trud?

The duration of Joumey from
Bhopal to Chennai is 21 hr
40 mun,

The duration of Journey from
Bhopal to Vijaywada is 13 hr.
10 min.

The duration of Journey from
Nagpur to Chennai is 15 hr
10 mun.

The duration of Journey from
New Delhi to Nagpur is 11 hr. 30
min.




() 281

2 4L

(3) SOL
(4) 100 L

40.  Which of the I‘ollmrlng represents
dﬂtmdlng order of Dumbery ?
; ;"'Tt 4 e

opkeeper mixed 53 kg of
s 210030fl‘!1dm 2.2 kg of

cashews and Packed he mixture
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43 Asha plans to save some money from
household Expenditure to buy »
mobile phone. Every week she saves
T S0 on Monday, T 100 on Wednesday
and T 80 on Friday and spends T 60
from this on Sunday, How many
weeks would she take to save enough
to buy a mobile phone of ¢ 5950 ?

40

25

| git even number.
I an¥common multiple of 3, 4, 6.

I have total 9 factors.

36

48
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number In the blank space Is

3T

46. Which of the

S s aw s6. Preefr
both horizontal and vertical lines of

-
TL [l
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7. What s the correct sequence a teacher
of Class-111 needs to follow to explain

the concept of ‘Quarter’ (M) to the
students *

(A Write symbal of Quarter on
black board.

(B Provide concrete materinl and
divides Into Quarters.

(L) Show pictures representing
"‘Quarter’.

(C)L (ALY (B

(B), (C). (AYY

TixBB=
The num% he blank s
@ itiple of 7
.i 8 prime number

(C) less than 10

(D) an even number

(E) [actor of 56
Which of the lollowing is correct ?

(1) (A) (D), (BE)
(2) (A) (B), (O
(3) (A) (D) (B)

w
(E) 56W%
Prsfefa ¢

() (A) (B

(2) (A), (SRS
(3) (A), (&%




) Students of your
dl-rwu.lnlnt

i) P:“t"\ 1de
hh‘f

ndu,tadno.[‘.'

Dem  extra  time for

{a) Mntt?\:fnl-_t-:thb

ngﬁ xhien =y |

Associative Jaw

Repeated addition




Which of the following Is pot =
mathematical process ?

(1) Estimation
(2) Transposition
(3) Visuvalisation

(4) Memorisation

Which of the following is not related
to early number co

(1) Measurement
(2) Classification

(3) Class inclusion

(4) Conncrvaticv-\O
mwuow{ng statements |s
tru ng ‘Numeral’ and

‘Number’ ?

(A) A numeral is a symbol used to
represent number,

(B) Same number can be
represented by different
numerals.

Both (A) and (B) are correct.
Both (A) and (B) are incorrect.




There are 15 oranges In one

basket and 17 oranges In

another basket. How many

oranges are there altogether ?

The price of » mobile phone
Wwhich Is for ¢ 9,950 Is
by ¥ 375 after

increased

budget. What is
the new price 200 <

e OO
gmcnlntinn

N2

2) '} 'e'cprcscnls augmentation
Cture of addition whereas ‘B’

fepresents aggregation Structure of
addition.

‘A" represents ‘aggregation'
structure of addition whereas ‘B’

represents ‘augmentation’
Structure of addition,

Both  represents aggregation




Identify the correct statement about

the ability to conserve different

physical quantities In ‘measurement’

s proposed by Piaget.

(1) Conservation of length is grasped
before conservation of number.

(2)  Conservation of weight is grasped

before conservation of volume.

Conservation of wvolume is
grasped before conservation of
IMAss, R . T

£ k &
A4 B
1 SRk K
Y gy
'_'q."", S
B " N of {4
* S Rd - y
1

before conservarion of nu

Which of the following mathematical
concepts can be addressed through
this task ?

(I)  Area, volume, length
(2)  Volume, area, length
(3)  Area, factors, perimeter

(4) Area, perimeter, volume

(21)
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57. Which one of the following sets nre

Problem  Solving Strategies
Mathematics ?

(1) Memorisation, Guess & test,

drawing
(2)  Trial-error, drawing, Memorisation

(3) Drawing, working  back, rote

learning

for a pattemn
B

Van % lgth refers to stages In

opment of

(1) Fractions
(2)  Number concept
(3) Place value

(4) Geometrical thinking

=

(4)

LICIN
N e,c :(3) fera
4/a¥ vou W

fad=m
wiaey 208




As per the recommendation of NCF
2008, Primary School mathematics
curriculom should

prepare  children for advanced

mathemartics.

relate to children’s everyday

expenences,
focus on procedural knowledge

provide ngod Y

concepts

. (\e
60. Which nf% \owing teaching-
urces is best suited to
mj;ncept of multiplication
of two decimal numbers say 0.3 x 0.2
= 0067

(1) Graph paper

(2) Dienes blocks
(3) Taylor's abacus

(4) Number chart

03x02=0061
fr Pt
Fftrms s 36




